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(20819 Printed Pages : 7
) Roll No. ..ciicrnreeeecnnnn. 1. 0 passive u
LLB. - vy Sem . Convert the following into p € Voige.
. 14230 (a) Somecone has stolen my Punks_ .
LL.B. (Spl.) Examination, A 2019 (b) The stars brightened the sky.
XD RED on u t— ‘
LAW  FHRTE () M.C.Mehta filedaPIL In the SUpmntQ‘%L .

(d) The Judge delivers the judgemen,

Legal Language and Legal Writi di
& B ng Including 2. Convert the following into Indirect speech;

Pmﬁcippc,}_: in General English

Time : Three Hours] (K—Gooﬂdaxi Marks : 100 (#)  The mother seid, "The 557 rees i the st
i BEArES - (b) You must do as you are told.
Note: Attempt all the Scctions as per instructions. = = (¢) He said, "Success of democracy d%dagn =
M wl st @ FRYgER I Aty N freedom of press”. ) H
Sc‘cﬁun-}l ' g E (d) He said tc me, "wait until I come: g
U3 : e 3. Correct the following sentences only in Engligh. , :
(Very Short Answer Questions) E % (a) What is the last news? 5
("ﬂﬁ g SWE u¥H) g g (b) Heis my oldestson. - g
Note : Attempt all five questions. Each question carries (¢) Thavenoany friend. .
4 marks. Very short answer is required not (d) He works hardly. ,
exceeding 75 words. 5 %4=20 4.  Use legal term (one word) for the following: 4 |
fe: i G T D I AR | TS A 4 R (a) Anact punishable by law. -
1 & | AT 75 9= § i A IR SRR (b) An offence punishable by death penalty.
el (c) Marriage with many husband.
(d) An accused tried twice of the same offence.
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(3)
&, Write the full expansion of the following
abbreviations: 4

(@) ILR (b) JILT (c) CR.LJ. (d) Vol,
‘Section-B
Tqs-q
(Short Answer Questions)
(7 o o)

Note: Attempt any fwo questions out of the following
three questions. Each question carrics 10 marks.
Short answer is required not exceeding 200
words. 2 x 10=20

e : Fremias @ 9w § & Bl @ o @
AR | 2% 997 10 3 F B 1 afrmam 200
gl 4 qY JaT o ® )

6. Write a letter to the collector of your district
complaining against the use of microphones / DJ or
loudspeakers during your examination days. 10

o Rt & Fered & o qlael 3 R A
MDA, S TR FSSHH & wahT 2 Risprga
FA I UF T H AT GG i |

7. Framesentences to bring out the meaning of any five
of the following: 10
(i) Hearsay
(i1) Voidable
(iit) Ejectment
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(iv) Discharge
(v) Insanc
(vi) Bonafide

Preffes 3 @ Rl GId 1 O T g
g & s AR | Y

G g
(i) IR

(iii) Frepra
(iv) I

(v) faftrT _

(vi) AR S

8. What is the method of writing 8 €85€- COmmey,, g

a?gnmhmﬂzﬁrwaﬂfﬁl%?mml %

Section—C :5:_'

qs-d g

(Detailed Answer Questions)
(R S0 w99)

Note: Attemptany fhree questions out of the following
five questions. Each question carries 20 marks,
Answer is required in detail. 3 x20=60

e : Prfiiaa g s § @ B @ 9F 3
IR R | TEF 9 20 W A 81 RRw
I R 8
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(5) (6)
in Law? How legal rules are

Write any one cssay from the fullawing; 20 11. What are precedent : )
> (i) Uniform Civil Code created bs precedent? What is the differenc,
Gi) Rightto Information between Ratio-Decidendi and obiter d"““fzn?
il i 0
(iii) Child labour in India g;_;cu;s !ﬁ & T w7 87 39
.1 Judicial Activism frar 87 Pl o
(iv) 3 3 P T W * zra Ry Prst & g9
Fereferf o P R iR 7 siae ¥7 fae AR
() STFR _ 12. Whatis proof reading? ‘.}'hat isthe u‘!'r::fmﬂrglgal
Gi) L H ) marks and their cxp!anntml_'ls? Descn .EFJIT 0
(iif) @ A @ A % AR Far 37 A i /e BT 9
(iv) i HEA g SR Ty g 87 @l #C E:
10. Explain the following maxims either in Hindi 0; :}n - ﬁ 13. Comprehension: 20 E
English. ‘ F F On of the major problems I'ndia has to face is i
(i) Ubi jus ibi remedium S that of unemployment. It is serious problem and ¢
© (ii) Audi alteram partem 2 2 cannot be ignored. It has to.be Iﬂmﬁmh‘“""d that 2z
(l.. e injuria % % merely giving some kind of occupation (0 a large %
(iii) Damnumsine _" S S number of people docs not ultimately increase ¢
(iv) Ignorantia facti cxctfsat employment or lesscn un::rnpl»::n},-ynf:nt|--'Ernpl'ﬂ)v’lm“-l'lt
Pl giaar #it e W =Y § e comes from newer and more effective means of
AR: wealth production. The whole experience and history
C . - 3 of past two hundred years show that it comes through
(i) Sfel gfy 981 IUE & the growth of technological methods, Every country
(ii) {fﬂ' o5 S A if:ﬂ which boasts of full employment today is country
F B which is technological advanced. Every country
(iii) R afel - )
2 which is not technologically advanced has
(iv) et H SR & @ unemployment or under employment. Therefore, if
India is to advance, she must advance in science and
14230 [PT.O. 14230
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(7)

technology. The fact is that our poverty is due 10
our backwardness in science and technology. If we
remedy that back wardness we create not only wealth
but also employment.

(i) Give a suitable titie to the above passage.
(ii) How can employment be increased?
(iii) What does technological advanced means?

(iv) What is the reason of our backwardness?

(v) Summarise the above passage.
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